 A) the rétio of one prlce"t(‘)'é‘hpfh“él‘ .

C) the slppe qf,the-‘siupb!y&C‘U'Né;‘ i

. 2) Wants, as og:gosed to‘idema’nds‘,':--‘ |

A) smaller is the demand for the good
) larger is the quantlty ofthe good demanded

1 AnsB

_)Arelatuve prlce sz "'.,

Ans.A

A) depend on the price. ' . 3 JI;'- B) are the goods the consumer plans to acquire. B

C) are the unlimited deslres of th.e cqnsumer By ¥ 3 D) are the goods ‘the consumer has acqurred 4 .8
Ans.C ! ¥ i) ! ki bt K A ‘ e | """_'.'I' ) I ‘ ’
3) Demands difn‘fervfr:om'Wants in that . - ki, :‘. ] ni l i
A) wants require a plan ‘to acquu'e a good but demands requrre no such plan‘
- B) demands are unllmlted whereas wants are Irmlted by.income. I 7

: C){ wants imply a deusron about which demands to ‘satlsfy while demands mvolve no specrflc f. : i

"yp‘l’an to acqurrethegood‘ ‘ f - “ i | i |
D) demands reflect a decrswn about WhICh wants to satrsfy and a plan to buy the good wlhnle. A‘.’ ;
wants are unl|m|ted and mvolve no specmc plan to acqunre the good. ; A i it ",-;j‘l" Az i
4) The quantitv demanded'ls“-""“ ' ; L i " ' N 3 | b A
A) the amount ofa good that cpnsumers plan to purchase at a partlcular pnce B) lndependent of the prrce df the good g
Q) mdependent ofconsumers buymg plans .   i D)always equalto the equnllbnum quantlty -

|'
)

+oerdic O

41

te el mab
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T crease.
i B) as the price of a cheeseburger rises, the quantlty of cheesehurgers dema“ded will de

' C) as mcome lncreases the quantnty of cheeseburgers demanded WHI Increase.

‘D)as the price of a cheeseburger rlses the quantlty of cheeseburgers demanded will increase.
~“Ans. B | |

y _LThe law of demand states that the quantity of a eood dema nded varies

A mverselv with its price. PR j _B) dlrectly wfth population.

| C) dlrectly w:th income. : &l 'D) inversely with the price of substitute goods.

, , o " . T Ir e UL
AnsB R . R |

‘J whach of the followme is consrstent with the Iaw of demand?

A)A decrease in the price of a gallon of mllk causes a decrease in the quantity of milk demanded
B) Ani mcrease in the price of a soda causes a decrease in the quantity of soda demanded
Q) An mcrease in the price of a tape causes an increase in the quantity of tapes demanded.,

i : D) A, decrease in the price of;unce causes no change in the quantlty of juice demanded.

. Ans.B

o ;_) The Iaw of demand |mplles that if nothmer else chanees there is -

' A) alinear relattonshlp between prlce of a good and the quantity demanded.

{ ‘B) a posttlve reIatlonshlp between the prlce ofa good and the quantity demanded.

;r

4 C)a negatlve relatmnshlp between the pnce of a good and the quantity demanded.

D) an exponentlal relatlonshlp between price ofa good and the quantlty demanded.
A

",' AnsC

i
L] e [}
A "

10) The law of demand states that

A) a decrease in the pnce ofa good shifts the demand curve leftward,

') other thlngs remarmng the same, the higher the price of a good, _the smaller is the quantity

iy

demanded ‘ Wb gl el O kil

&

C) other thmg remammg the same the hlgher the prlce ofa good the Iarger is the quantity i a3 : 3

«demanded

i Vi t ) \
; Py | g . H
el |
A )l
o

an tncrease‘"in'the‘:briee’.‘o‘ﬁa good sh;fts the demand CUr\re'leftward.

nsB EIERIIR 1 ' (S, %A

‘ 11) The law of demand |mplres that demand CUNES

.: "J‘ iy '.":\- ;, ¢ &) . kK ] 1 A f
i/ i N ‘ ; t R
s / "‘.(' g »\, i3 1‘! i i
/ 7 SR i i .
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A) &l Wwaril v ; ‘ : :
.‘) Wttt WHEIOVE e o e, W) RNIEE T wan) whinevir

B e |Jl'j|t"t_' (15695,
- EI R iy, 1) oo 1 '
) wlope up,

AL

\‘t AUOD I ithe
ALA DO I e g AL eanpact dise shifts e demand carve for nrgroconded tapes lofiward, from

i

that vou, hnow conpact dise K ahu prerecorded tapes are

Al noval RO, B) substitutes, ) fnferlo Roadls, 1) mmnlmnuuw.

A,y
L30A substitute by o good
A) ot .\mh""(l\'i‘m\’ thay another unmﬂ ) that l@ not uged In place of another good,

C) that can be used in place of another goo, D) of lower quality than anather good,

As,C

14) Peaple buy more of good L when the price of good 2 rlses, These foods.are
A) normal goods, 1) tomplemants, ¢) substitutes, 1) infarlor goods, :
Ans,C

1,4} 1he demand for a good Increases when the price.of a sub Uluwm,_,,.._,, and.also Increases when

_Lbe price of a complement . . ‘ |

A) falls; falls 1) rises; falls C) rises; rises D) falls; vises

Ans.h

16) A complement Is a good

. A decreases; falls B) Increases; rises C) Increases; falls 1) ducrénsas; rises: '

Scanned by CamScanner

A) used In conjunction with nm)tlmrguud B) used Instead of another good.

C) of lower quality than another good, D) of higher quality than qno’ther good, \ ;
ANSA i . | |

12).4 1!"!fUIL‘DQLWUILMQ&LQI.QRQ,OLL(M:[Q?\_!SC_Li..lm(!l)lfl.lm 1 SRR
A) more of that good but less of Its complements. - B) loss of that good and also Iessofltxcomplements; ‘
C) lass of that good but more of its complements, i ‘ D) more ofthnt{:ond and also more of its complemen'ts )
Ans.D) ' | | )
;lt!),]_'l_.l_e?_s,!um.i\liLLRUL\LKLfQLMQImﬁlHQQd»S'—311‘5-!9&‘04““1‘l““ﬁ?'.“‘3 | o ;héozsbcu-.ted future

PIOTSNRREUS | {1 el g




E Ans C

A At

L"Uﬂﬂﬁﬂﬂﬂiﬂfm U.&..L_[lr‘o nf a gornmgmg ng fa“&;

A) the supply curve of a normnl good shifts leftward ‘ : ;j_ B) the SUPP'

N

y curve of a normal good ShlftS rlghtward

. : curve  for a normal good shrfts leftward

C) thc demnnd curve for a normal good sl\ll ls rlghtward D) the demand

fabr

20).)f Income dcrroasos orthe nrke ofa comnlement rlses. g
A) there Is an upward movement along the demand curve fbr the good. .

B) there is a downward movement along the demand curve for the good

C) the demand curve fora normal good shifts leftward, f ' D) the demand curve for a normal good shlfts rrShtWﬂfd

Ans.C A,

21) Normal goods are those for whlch demand decreases as

A) the price of a substitute falls.

C) the good's own price rises. | RS ' D) mcome decreases
Ans.D
' i ~fl Iy
22) A normal good is a good for whlch demand 71“. i3 '
A) increases when income mc_reas{est ‘ ~'B) decreases when populatlon mcreases |

- C)increases when population increases. - D) decreas‘eswhen mcom‘e increases. '

K

‘

23)Inferior poods are those for which derna;'nd'inc’r‘eases as.” .

AN

A) income decreases. e B) inCOmeincreases. it

. C) the price of a substitute rises. . K D) the: pnce of a substltute falls

l

Ans.A _' ; ‘ i e

¢ il

t

: 24) lfa good is an inferior good, then purchases of that good wrll decrease when R

’~“'ll

,'C) income lncreases D) the pnce of a substltute I'ISES

g Ans C Ny -, !

;-25l A Inferior zood is  good for which demand o o ﬁ:j;"'

A) lncreases when ponulatlon increases.. B) decreases when rnccme mcreases
C) decreases when populat|on lncreases : D) mcreasels' whevn income lncreases

B) the prrce ofa complement falls T

A) the demand forrt increases. i B) populatlon lncreases :.‘ SR
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F\nﬁ.l\

AL A Chan In e pric of i gooy

A) shitts \g . :
) Shitts W Roodl's domand eurve but does not cause

o movamant along L.
) does not shift e oo

S domand gurve bt dows cansg n movament along It,

(- hy X A g > ,
) shifis the BOOd's demand curve and also Causes o movement along It,

DY nalther shifts o Bood's damand eurve nor causes » movemant along It

Ans.l)
220 A reduction In the price of a pood |

A) does not shift the good's demand curve leftward but does decrease the quantity demanded.

W) shitts the good's demand curve laftward but does not docrensd the quantity demanded.

C) shifts the good's demand curve leftward and also decreases the quantity demanded.

D) nelther shifts the good's demand curve lefiward nor decreases the quantity demanded,

Ans,A

28) A decrease In quantity de lamanded caused by an Increase in price Is represented by a

A) mavement up and to the left along the demand curve, B) movement down and to the right along the demand curve.

C) leftward shift of the demand curve, D) rightward shift of the demand curve,

Ans.A

29 When we say demand lncreases, we mean that there [s a

A) movement to the right along a demand curve. . B) movement to the left along a demand curve.

C) leftward shift of the demand curve.

[

D) Hightward shift of the demand curve.
Ans.A

30) The quantity supplied of a good Is |

A) equal to the difference between the quantity avallable and the quantity desired by all - il 4 e

consumers and prdducers
B) the'same thing as the quantlty demanded at each prlce

C) the amount that the producers are plannlng to seII at a partlcular pnce durlng a glven time
period. |

D) the amount the firm would sell if it faced no resource constraints,

Ans.C
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N A) actually sells ata partlcular pnce durmg a glven tume perlod B) should sell at a partlcula_r price during 2 given time perioq.

Q)i IS wullmg to sell at a partlcular prlce durlng a glven tlme perlod

! D) needs tosellata partlcular price durmg a glven tlme perlod

RIS
8 EERRE IR

’.Ans c

- 32 Afall in the rice of a good causes roducers to reduce the uantrt of the ood the are Wlllln tO

produce. This fact lllustrates :

A)achangeinsupply. = B) the law ofvdemahd,'_’ff‘ A .'"
C) the nature of an lnferlo'r good. - D) the law ofsupply.“f:."»:l. W FEEOT ALY s AR

33)A supplv curve shows the relatlon between the quantltv ofa good supphed and

A) the price of the good Usually a supply curve has negatlve slope T
l $ : : e B 4 f ¢
) income. Usually a supply curve has negatlve slope

. B) income. Usually a supply curve has posmve slope
D) the pnce of the good. Usually a supply curve has posntnve slope

.34) A'supplv curve differs fromia "supplv schedule"betause a supply curve

A)i |s a graph and the supply schedule is a table.

B) | holds the number of suppllers constant whereas the supply schedule allows the number to vary. -,

C) hol_ds resource prices constant whereas the supply schedule allows them to vary
) represénts one firm, whereas the supply schedule; represents all fi irms in the market.
" Ans. A " : ;

| '.'V35) Wthh of the followmg is NOT held constant whlle moying along a supply curve?

% B) expected future pnces

.A) prlces of resources used in productron ‘
| D) the prlce of the good ltself

l QZ'Z:C) v-th'fe number of sellers.

.; ! ) ‘ i ".‘ i & . .".‘i‘ '(‘ :
'Ans.D'; i R OTY : , B b R
‘ I 0 produce elther eood A or good B,' then A andlB are . -

) '36) lfa producer can use resourcest
k A) substututes in consumptlon B) complements in Co‘nsumptpm
D) substitutes in productio_n_.* :

ALY

C) complements in productlon

TG

"Ans.D i L
A vh, P00 S .,.- Jis) ",7,“"(‘
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£ 7) GOOd A and good B are substitutes in production. The demand for good A decreases, WhICh Iowers

- the price of good A. The decrease in the price of good A

~ . A)increases the demand for good B. B) decreases the demand for good B.
- C) increases the supply of good B, - D) decreases the supply of good B.

Ans.C

38) Which of the following does NOT shift the supblv cutve? i

A) an increase in the price of the good ' B) a fall In the price of a substitute in production
C) a decrease in the wages of labor used in production of thegood D) a technological advance
Ans.A

39) If the price of a good changes but everything else influencing suppliers' planned sales remains

constant, there is a

A) rotation of the initial supply curve around the initial price. B) new supply curve that is to the right of the initial supply
curve. : :

C) new supply curve that is to the left of the initial supply curve. D) movement along the supply curve.
Ans.D

40) A decrease in the quantitv supplied is represented by a

A) rightward shift in the supply curve. B) movement down the snpply curve.
C) leftward shift in the supply curve. D) movement up the supply curve.
Ans.B

¢

41) Which of the following causes an inc_rease in the ‘quan‘titv supplied of good X but NOT in the

supply of good X? | | g

A) an increase in the price of X | B) an increase in the price of good Y, a complement in the production of X.

C)an improvement in the technology for prod uciné X D) a reduction in the price. of resources used to produce X

Ans.A

42)The interaction ofjgpplv and demand explains

A) both the prlces and the quantmes of goods and serwces B) the quantntnes of goods and services but not their pnces
C) the prices of goods and services but not thelr quantltles D) nelther the prices nor the quantities of goods and servnces;' |
Ans.A |

i

~ 43) When the quantltv demanded equals quantity supplied

: A) the government must be mtervenlng |n the market i ‘-fB)-v'there is a shortage: ‘

I'Scann.ed' byzC",amS'cenner‘ "



‘AnsD"

- 48) A surplus occurs when the price is

. Ans. B ¥

‘ 49) If the quantrtv supplied exceeds the quantity demanded then there Is

g TR e ahove
€) there Is a surplus,. i | D) none of the ab |

44) When the price Is helow mwgmuwumummgmmuv dcmmmﬂa

A) s less than the equlllbrlum quantity: The mmntltvsuppllud oxcecds lhn aqullibrium. qrmntlw
B) exceeds the equllibrium quantity. The quantity suppllud Is loss tlmn the oqulllhrlum quantlty.
Q) exceeds the equlllbrlum qmntlty So does the qunntlty supplled | .
D) Is less than the equllibrium quantity, So l'; the qunntlly supplled

| N

/\nsB :

45) A pr b Iowthe equllibrium price rorultqln

A)a further prlce fall. B) a shortage.

C) excess supply. D) a surplus,

Anst_B» W

46) A ehortage causes the

A) supply curve to shift rightward. r Et) price to rise,

C) 'price to fal‘l.' D) demand curve to shift leftward,

Ans.B

47) If the quantity demanded exceeds the quantity supplied, then there Is

LA 'shortagle and the price is above the equlllb‘rium‘ price, B)ja surplus and the price Is below the equilibrium price.

C) a shortage and the price is below the equilibrium price. D) a surplus and the price is above the equilibrium price.

i

AnsC

~ A)' éqpal to the equilibrium price. ) greater than the equillbrlum prlce ‘
T 1 { . \ : "
C)less than the equilibrium price. . D) None of the above because the exrstence of a surplus ls Independent
- of the price of the good. “ W | | j |

”A) a shortage and the price is below the equilibrium price ' B) a surplus and the prlce is below the equlllbrium price.
- Q)a surplus and the pnce is above the equilibrium price, ‘D) a shortage and the price is above the equlllbrium price.
1 Ans.C

: 0) When the demand for a good decreases its equlllbrlum prlce and equilibrium quantity
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R e e e e e e o i
y r .

ot

) ris s . ‘ ; .
; A) rises; decreases B) falls; decreases C) falls; increases D) rises; Increases '

" Ans.B

0ods (in consumption). The cost of a resource used in the .

production of A decreases. As a result, “ A g \ -
A)the equilibrium price of B willalland the equilbrium price of Awillfise. | e R
B) the equilibrium prices of both A and B will rise. | _ | . i':"
e |
C) the equilibrium price of B will rise and the equlllbnum pnce ofA WI|| fall.

D) the equilibrium prices of bothAandBwull fall o Hi 1T, y i
. ! 4l i | { ‘, 4 “.,."
Ans.C A , |
ly does not change, the equilibrium price .

A) rises and the equilibrium quantity decreases. B rises and the equilibrium quantity increases. ' i

C) falls and the equilibrium duantity increases. ‘D)‘ fa'l:lsvand.the‘eq‘uilib‘ri‘um quantity‘l‘decrea_ses‘._ :

Ans.D B VTR A R ¢ ¢ A |

53) When supply decte‘aseea‘nd demand does not change; the ednilibri'dm ‘qdantitv |
A) decreases and the price rises. - B) mcreases and the prlce falls g L
C) decreases and thea_p‘ticef‘alle. 2 D) mcreasesand the pnce rlses b % VA

54) If both demand and supplv mcrease, what wnII be the effect on the equmbrlum price and quantltv? o

L '}
IS

A) The price wnll rise but the quantlty could etther mcrease decrease or, remam the same

l

B) The quantuty w:ll mcrease but the pnce could enther rise, fall or remam the same. o |

Wit |

C) Both the pnce and the quantity wnII lncrease D) The pnce W|ll fall but the quantlty wnII mcrease _ " :

AnsB e At ‘ el o
55) If both the demand and supplv increase, the equullbrlum quantltv i i
A) decreasesandthe pnce rises. “ | B) mcreasesand the effect on prlc’e‘l“s‘lndetermmate i ‘
C) decreases and the, effect on prlce |s mdetermmate“ ; "D) mcreases and the pnce falls‘ e
56) The price will rise and the eqmllbridm quaht.it\‘r'mlght increase, decrease, or stay.the same when
B |
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' ‘ | T ofd. ddd vbdtvh 'décrease.
A) demand and the supply of a good both increase. . B) demand and the supplv of a B

the su ply of it
C) demand fora good decreases and the supply of it mcreases D);demand for a gond mcreases and p

decreases.

Ans.‘D_

the same when

L Wy

A) its demand decreases and supply increases. B)IitIS'demand increases and supply decre'ases, A
C) its demand and supply both increase. D) its demand and supply both decrease. »
‘Ans.C"

58) The price of compact disc plavers fell over the gast decade because a coﬁblnatnon of i lmgrovmg i ‘;. .. ' oA K
echnology, rising mcor.nesI and falling prices of compact dlscs‘caused the | ‘ ; ;{
A) demand curve for compact disc players tdshift rightward faster than the supply curve of ' A 3 s .“5:: ' :5 l
compact disc players shifted rightward. | i

B) su.pply cdrve of compact disc players td shift rightward faster than the demand cdrve for
compact disc players shifted rigthard.

C) demand curve for compact diseplayers to ahiﬁ ‘le‘ftwadrd and the supply curve of compact disc ‘
players to shift leftward. | | .
D) supply curve of compact disc players to shift nghtward and the demand curve for compact

_ dISC players to shift leftward. |

Ans.B

59). Which of the following will always raise the equilibrium price? L : i s L

A) .an increase in demand combined with a decrease insupply - B) a decrease in both demand and supply
i C)an ihci'ea'se ih both demand and supply D) a decrease in demand combined with an increase in sUp‘p.ly ‘
Ans A

60) A decrease in the price of a game of bowling shifts the

A) demand curve for bowling balls rightward. B) supply curve of bowling balls Ieft_ward.‘ ;

C) s.upb'lyAcu'rve of bowiing balls rightward. D) demand curve for bowling balls leftward.
Ans.A ' ‘ T 2 1o 3 o

] '61) Wthh of the followmg defi nltelv causes a fall in the equnhbnum price?

A) a decrease in both \demand and supply B) an mcrease in demand combmed with a decrease in supply
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‘_j_"(:) a decrease in demand combined with an increase in supply D) an Increase In both demand and supply :

~ AnsC

62) CD plavers rise in price while pre-recorded audio tapes fall In price. The combined effect of these

two changes is to create

A) a leftward shift of the demand curve for portable audio tape players, such asa Walkiman,
B) a rightward shift of the demand curve for portable audio tape players, such as a Walkman,
C) a rightward shift of the supply curve for portable audio taﬁe players, such as a Walkman.
D) a leftward shift of the supply curve of portable audio tapé players, such as a Walkman,
Ans.B |

63) Walkman Watch expects a recession to occur. Knowing that a Wa kmanisa. mg},&qpﬂk\{m-

predict that the demand for a Walkman

A) will increase. B) might increase or decrease.
C) will decrease. D) will remain unchanged.
Ans.C

64) Wages for workers producing Walkmans and similar products will rise next vear. Walkman Watch

asks you to predict the effect of this change in next year's market for Walkmans. You predict that

the major effect will be that the

A) demand curve for a Walkman will shift leftward. B) supply curve for a Walkman will shift rightwart}_.l :

C) supply curve for a Walkman will shift leftward. D) demand curve for a Walkman will shift rightward.

Ans.C | 3

65) shows the overall output generated at a given level of input:

(a) Cost function (b) Production function (c) Isocost (d) Marginal rate of technical substltuti&h ;
Ans.B |

66)If LAC curve falls as output expands, this is due to

(a) Law of diminishing retains (b) Economics of scale
(c) Law of variable proportion (d) Diseconomics of scale
Ans.B

67. Isoquants are equal to:

(a) ProdyctLines (b) Total utility lines (c) Cost lines (d) Revenue lines

Ans A
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. (a)TotaI expenses Total revenue ,

l o | e roductrs
68)The ma rginal product curve is above the average product curve when the‘avg@LP——————-"‘

(a) In‘cr‘e_asm_g (b) Decreasmg (c) Constant . (d) None
AnsA i - ; !

69). lncreasrng returns to scale can be explamed in terms of

(a) Externaland mternaleconomles . (b) Externaland lnternal diseconomles : |

(c) External economrcs and mternaldrseconomles _ (d) AII ofthese i

'70 Anisoguantis ____toaniso cost line atgar‘;ilibrii}rﬁﬁgi‘!ﬁt; - Y “ s o £ L

(a) Convex (b) Concave (c) Tangent (d) vPerpendicuIar;v-‘;'_‘ | Bt

71. At the point of thfler(ioh, the mérr‘zi“rialproduc‘t‘is:’;“ ; i ' ‘ TR Bl T L AR A e

(a) Increasing  (b) Decreasing (0 Maximum  (d) Negative |

A"5;£ I E AE . ‘ o ,';‘ ‘ {;:
ey e

72. Diminiéhing marginal returns impl:ies"

(a) Decreasmg average varlable costs ~ (b) Decreasing marginal costs = - - ;"' !
(c) Increasung margmal costs : o ‘(d) Decreasing average fixed costs- ‘
Ans.C.

_73."If the n‘iarginal product of labour is below the average product of labour. It must be true that: -

(a) Marglnal product of labour is negatlve (b) Marginal product of labour is zero_ y ".’ o " : i
(c) Average product oflabourls falhng K ' (d);‘ Average product of labo‘urif;:{,egati‘\’e | U
A"SC-v' HO O :f i b 4 T, i %.“f=,‘[f}
74. Lawofvarlable proportlon is valid when: | ‘ v | T L

(a) Only one input is fixed and aII other mputs are kept varlable (b) AII factors are kept constantf‘

(c) AII lnputs are varled in the s same proportlon W (d) None of thase : |- o i
i 75. At breakeven ‘point“there is | i |
(a)Pro'ﬁti , (b)t.oss ~ (c)No proﬁ't}orlols's‘ » 1 ;_‘(Id)None of thes‘e.

'(AnS'c) .

76 At breakeven pomt

b)TotaI expenses > Total revenue

(c)TotaI expenses < Total revenue (d)Any of the above

Z(A.ns_-a); ;
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f @ 77.Inanyor anization, profits depends mainly upon

4 "(Q)Production cost (b)Production output | ' ‘(c)‘R;c'Ven“e (d)Al ‘o.ffthe ab'oye
(Ans:d) | 0 e
78.There are various methods to reduce cost of Droductlon, except ' i W
(a)Increase in production output (b)Reduction in number of 'rejectiong‘ SIE .;::‘ : i

* (c)Maintaining maximum inventory IEVGIS Al (d)Producing standardlzed products - A vl
(Ansic) o ‘ i
79.The following assumptions are made in case of break even ana ysw, except
(a)All fixed costs arevﬁxed (b)AIIvarlabIe costs are fuxed ol : b ‘
e equal.

(c)The prices of input factors are constant (d)Volume'of. production and volumes °f sales ar

(Ans:b)

80.The breakeven point is pbtained at intersection of
(a)Total revenue and Total Cest line (b)Total cost and variable cost line"
(c)variable cost and fixed cost line (d)Fixed cost and total cost line

I

(Ans:a) ki sl

81.Margin of sefe‘tv."ls e'q‘u'al to

(a)Actual séle‘s"-l'sdles at Breakeven point j ' (b)Actual sales + Sales at Breakeven pomt

(c)Actual sales x Sales at Breakeven point (d)ActuaI sales / Sales at Breakeven pomt
LR H .

(Ans: a) “ i, iy

' 82. To increase margm ofsafetv, the following measures canbe taken s b e e B

(I)Increase in sales price s (ii)Increase the output | it

(i Reduce: the erd and vanable costs B
.83, Wthh of the followmg is/are true? |
(a)Only l e (b)i & h S (s i o ) . (d)Allof the above | .

(Ansd) ' i LR

84.Angle of lncndence is the angle at which

(a)Total revenue line mtersects the total cost Ilne . (byTotal e line mtersects the vanable C°5t |"“e‘
(;)Variable cost Ime,lntersects fixed cost Im,e-' L (d)leed cost llne mtersects total revenue Ii
fAnsza) < T el SRR / 4 4 :
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iR costperunit i
(b)SeIImg cost per umt + varuable cost pe, it e
: rumt A
. (d)sellng cost per unit / "a“ab'e cot PR

85 Contributlon ger un|t is egual to
(a)SeIImg pnce per unnt varlable cost per un|t

(c)SelImg cost per unit x vanable cost per unit

(Ans:a)

(b)(leed cost Deswed proflt)/‘:o"t"it"""'“on per unlt
(d)F:xed cost / (Des:red proflt X Contnbutlon per: U“'t)
- G T8

(SR T A
v by b

86. The quantitv required to have desiredxprof‘t ‘is s Ll

(a)(ﬁxed cost + DeSIred proft)/Contributlon per unlt i 1/\) '

(c)(Faxed cost X Desnred proFt)/Contnbutlon per umt

" (Ans: a) ! PRI S R i A ‘
87.An industry is sellmg a product for Rs. 101 per unit, The f'xed cost for assets is Rs. 40000 w:th vanable cqst of Rs.6 per
gilie o, _&,~-<~1~; f,-:t‘}"f{.';)

JLMMW""f | T el e i
(2)8,000 (b)10,000 (c)12 000 . (d)14000 g e ot A e
(Ansb) i R /s ) e 4%

(a)leed costs of assets = Rs. 20, OOO Sales pnce per umt Rs. 8 Varlable cost— Rs. 60 000 Haghli
Contrlbutlon for 6000 units = Rs. 12 000 The'sales volume for breakeven is 7 el

(8000 =~ (b)10,000 (c)1zooo (d)14,000

A 89 When pnces are falhng contmuouslv, the phenomenon is caIIed .
(a)‘ lnﬂatlon (b) Stagflatlon ! (c ) Deflatlon . (a) Reflatlon “': :::’ b
3 | I " i \ 1 ' . ‘. L b ‘\" " W !

' 90. When too much money chases t00 few goods, the resultmg lnﬂatnon IS caIIed

(a) Deﬂatlon : (b) Demand pull lnflatlon o nle) . Cqst pushmf‘latlon; (a) Stagflatlon

t. &5 N
} [ | O h Wit
i e W e A 1

Ans.B g, RS | ORI !

91, ‘Cause b‘fllnflatibn in India is / are:

(a) Def'catf‘nancmg M n (b) Erratlcagruculturegrowth

(c) Inadequate rise in mdustnal productlon_ (a) AII of the above

AnsD ‘_ " : . SRS NI t”t")“‘:f“‘ gt T _
92 Sta'gflatlon means | A b F U 0 S S

(a) Inflatlon w:th stagnatlon
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v'in‘fl‘atlon galloping like stage (8) Inflation & Increasing output

93. Which is the most effective quantitative method to controlinflation J_Ll..th!) A_(;Migﬂlﬂ | v
() Cashreserve ratlo (3} foth (1) and (b) -

(a) Bank rate policy (b) Selective credit control
Ans.C

94. Which measures are followed by the government for handlng [nflatlon?
' (c) Controlling Investrents

a) ANl of these
(a) Monetary measures (b) Fiscal measures (a) A

AnS.D ' A

95. Inflation is measured on the basis of:

() ANl of these

(a) Wholesale price index (b) Consumer price Index - (c) Marshall's Index

Ans.B

96. When price increases due to increase in factor prlces It Is

(a) Demand pullinflation  (b) Costpullinflation  (c) Stagflation (a) None of the above.
Ans.B

97.Central Bank is a/an,

(a)Apex Bank (b)‘R_ura,IvBank’ (c)Regional bank " (d)Commercial Bank

Answer: Apex Bank

98. Legal service ratio is equal to,

(a)CRR/SLR (b)CRR =SLR (c)SLR—=CLR (d)CRR + SLR

Answer: CRR +SLR -

99) What is the currency deposit ratio (cdr)?

a) ratio of money held by the public in currency to that of money held in bank deposits
b) ratio of money held by public in bank deposits to that of money held by public in currency
c) ratio of money held in demand drafts to that of mqney held in treasury bonds

d) none of the above

ANSWER: a) ratio of money held by the public in currency to that of money held in bank deposits

100) What is the reserve dep05|t ratlon (rdr)?

| a) the proportion of money RBI lends to commercual banks

b) the proportlon of total deposnts commercual banks keep as reserves

c) the total proportlon of money that commerclal banks Iend to the customers
: d) none of the above. _~ |

: ANSW‘ER:‘b) t‘he propo_rgi_on of‘tota] deposits commercial bénks_keep as reserves
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_' lgl)_w_hj; s the Cash l}eserve Ratio (CRR)

ﬁAnsA o o T il { f.lﬁi”

ustomerS :
w) the fraction of the deposits that commercial banks 'e“d t° the c .
merclal banks

b) the fraction of the deposits that RBI must keep wlth C‘-"" ‘.
c) the fractlon of the deposits that commerclal banks must keep W'th RB' i S "i;" sk

d) none of the above : ‘ , sl i- k. - - A Uiy ‘ L ALY
ANSWER: c) the fraction of the deposits that commerclal banks must keep W‘th RB' : ;
V_02 . Suppose the supply for product A s perfectl elastlc Ifthe demand forthrs roduct |ncrease5

decrease: 45

‘ s ntl will
A. the equilibrium price and quantity will Increase B. the equﬂlbrlum Pflce and qua ty '

C. the equilibrium quantity wi!l increase but the prlce wiII not change,

D. the equilibrium price will increase but the quantuty wul}l‘not change,

Ans.C

103. If the coefficient of income elasticity of demand is hiéh’ér’ than 1 and the re'venue increases, the

share of expenditures for commodnty Xin total expendlture

A. will increase; B. will decrease R o w:ll remam constant . 'D. can not be determined.
Ans.A ‘
Lo

104. If the demand for agrlcultural products is melastlc

A. as the prices decrease the revenues earned by producers mcrease, =
B. as the prices decrease, the revenues earned by producers decrease,

C. rising prices do not lead to differentiation in producers mcomes
D. the percentage decrease in prlces is Iowerthan the percentage mcrease |n demand R , ;o \

wl ,

()

Ans.B

105. For a rational consumer who has to choose between two goods in the context of budget constramts

the price change of one of the goods, caeteris paribus, will determme e ;e p Jy )4 o
A. a parallel shift of the budget line to the Ieft ;".' : : B a change in the slope of the budget hne i
C.no change in the budget line; L i D a parallel shrft of budget Irne to the nght . _

| } e ' oF
) '

‘7106 The pnce of the product A was reduced from 100 to 90 |e| and as a result the quantntv demanded

Iy iy

m@mm____mw el
Anftstaste; Belstic  Cunitelstis’ -t b determired from the ghen informaton

b 107‘ _The slope ofa demand curve de ends on

A
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. nerther
4 D) the units used to Measure price nor the units used to measure qUﬂﬂt'tV

its us 4
units used to measure price and the units used to measure quantlty

C nits- ‘
‘ _the units fised to measure Price but not the units used to measure quantity.

Ans.B - N ol 8

108) The price elasticity of demand depends on a0

A) the units used to measure price but not the units used to measure quantity

B) the units used to Measure price and the units used to measure quantity
C) the units used to measure quantity but not the units used to measure price.

D) neither the units used to measure price nor the units used to measure quantity.

Ans.D

109) The price elasticity of demand measures

A) the slope of a budget curve. | B) how often the price of a good changes.’

C) the responsiveness of the quantity demanded to changes in price. . ' Qo :n ! i - | s
D) how sensitive the quantity demanded is to cha nges in demand.

Ans.C

110) When the quantity of coal supplied is measured in hilograms 'i‘nStead of neunds, the demand for
coal becomes | ' ‘ | |

A) more elastic. B) neither more nor IeSS‘ela"stic. s C) less“'elaSt- "5 D)) un‘de’fi‘h’ed.
Ans.B | R

111) The price elasticity of demand equals

A) the percentage change in the quantuty demanded drwded by the percentage change in the

price. | ’ | '

B) the change in the quantity demanded divided by the change in pricer & 1
C) the percentage change in the price divided by the percentage change in the quantrty . “ .‘
demanded. - S

D) the change in the price divided by the change m euantr‘ty‘denaanded; g

Ans.A o R R TN SR

J

112. Calculate B.E.P CapaCltV if leed cost is Rs 50 000 percentage of varlable cost is 66 2/3% and canacit'y'is.hs 3.00,6(5
a.25% b.30% ¢ 50% d. None of the above | L -
- Ans.B

: ;113 Calculate margm of safetv if sales is Rs 3, 00 000 and B E Ris Rs4 50 000

‘.-:-.I":"a Rs 1,00,000 - | ‘ _' ‘ b Rs 1,50, 000 '7 c Amount ofsales < B E. P, therefore no margm of safety'

l".
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e AnsA

d. None of the above114. ;

‘s 8,000; Determine actual sales.

1115, G:ven Break even sales is 40,000 Proft earned is Rs 21000 and flxed cost |s ‘
: d None of the abov N

a. Rs sovooo % b Rs 20,000 C.Rs 32, ooo

AnsA 2 : “ ' : AR ) U G TR

; nce is RS 50 per
116. Determine B E.Pin unlts and amount if Unlts produced |f Rs 10 000 aned cost is Rs 40 000 Se|||“9- p :
unit’ and Varlable cost us Rs 30 per unit. ! e e L }

a.Bs 40 per umt,‘ Rs 2,00,000 b. Rs 50 per unit, Rs 10 00,000 . ¢.Rs 20 pe_r unit}fRS 1.Q0)QOO

d. None of the above | o O T i L% AN g

sR‘s"SZ-r

117 What will be the sales amount re unred to earna roft of Rs 4,00,000, if fixed cost is’ Rs 80 000 d|rect materlal i : :
rice is Rs 12 ver umt : AR {

er umt direct labor Rs 2 per unit, direct overhead 100% ofdlrect labor and sellin

a.Rs 19,20,000 b. Rs 3,20,000 . ¢ Rs 12,90,()00. 1) d. None of the above '
Ans.A. ‘ ‘
118. Given f‘xed costs is Rs 1, OO 000 selling prlce per unit is Rs 10 and varuable cost per umt is Rs 6 vaanable cost mcrease :

W

by 10% and fixed cost decrease by 10%s ,.B.E. P will

a. lncrease‘by 1,471 units b. Decline by 1,471 umts ~ c.Increase by 4,171 units  d.None of‘-th'e ab'ove
; ANSWER Increase by 1,471 units
119) Estlmate amount of profit if Sales is 10,000 umts leed cost is Rs 50 000, Variable cost per un|t is Rs 12 and selhng prlce |

\

per umt is Rs 20. ' |
c. Rs 30,000 " d. None of the above

‘A R512000 " b.Rs5,000

' ANSWER RS 30 000

120) The Break-even Point of a company is that level of sales income Wthh will equal the sum of |ts fxed cost

a. True< 5 b. False

| ANSWER True

P 121) Determme Margm of safetv if ProFt is Rs 15, 000 and P/V ratlo is 40%

d None of the above

) a RS 37 500 ~-b. Rs 33,000 . c. Rs 38,000

.Ans 37 500

122) F Determme amount of profit |f Vanable costs is Rs 1,20, 000 Fuxed costs is Rs 40, 000 and sales |s Rs 2,00, 000
| a. Rs 30 000 " b.Rs 50,000 o Rs 12, 000 ' d Rs 40, 000 *
Ans 40 000 | g 3

| 123 What wnII be the amount of profi t if Fixed cost is Rs 20, 000 Sales is Rs 1,60, 000 and P/V ratio is 25%’-’ e,

E'A;a. RS'.40.00.0 ' b Rs 20,000 - c. Rs 10, 000 | d None of the above
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. cSales (units) * Cost per unit

ER: RS 20,000

_Profit at any level of sajes in units is measured as
' 2, Sales (units) * it - Fi '
a.sal (units) * Cost per unit - Fixed cost . b.Sales (units) * Cost per unit + Fixed cost

d. None ofthe above

ANSWER: Sales (units) * Cost per unit - Fixed cost

125) Profit at any level of sales in amount is measured as

a. Sales * P/V ratio — Variable cost ) ,5- Salee * P/V ratio + Fixed cost

C. Sales * P/V ratio — Fixed cost ’ d. Sales* P/V ratio + Variable cost
ANSWER: Sales * PV ratio - Fixed cost % V

125) The profit at the leve| of existing sales is computed as ‘

a. Sales - (Fixed cost + Variable cost) ‘ ~ b. Sales + (Fixed epst + Variable CéSt)
C. Sales - Variable cost d. Sales - Fixed coet‘ |
ANSWER: Sales - (Fixed cost + Variable cost) ‘

126) What will be the impact on B.E.P if variable costs are reduced?

a. Decrease b. No change c. Increase d. None of the above

ANSWER: Decrease

127) What will be the impact on‘B.E.P if fixed cost is increased? '

a. Decrease b. No change c. Increase ' d. None of the above ' ‘

ANSWER: Increase ‘ : = ‘ T F |
, L b 5

128) Given fixed costs is Rs'1,00,000 selling prlce per unit is Rs 10 and vanable cost per unit is Rs 6 If vanable cost increase

bv10%,BEPwrll A

a. Decrease by 4,214 units b. Increase by 4, 214 unlts i

1]

c. Decrease by 4,412 units ©d. Increase by 4,412 units

ANSWER: Increase by 4,412 units
129) Given fixed costs is Rs.1,00,000 selling price per umt is Rs 10 and variable cost per unit is Rs 6. If fixed costi lncrease bv

P ‘ |
|

10%, B.E.P will -

a. Decrease by 2;500 units b.Nochange = c. Increase by 2,500 units | d. None of the above

IR

ANSWER: Increase by 2 500 units -

i

130) What will be sales in umts if fixed cost is Rs 50,000, Contnbutlonper unit is'Rs 60 and desired prof‘t per unit is Rs 10,

a.6,000units - b.Rs1,000 : c.1000un|ts L d Rs 6,000, oG el

ANSWER: 1,000units . © - oo , i

S

131) Determine sales in units for desired profit if Fixed cost is Rs 15, 000 desrred profit is Rs 5,000 Sellmg pnce per unit is Rs: (3)

20 and Varrable cost per umt is Rs 16
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il 4 0g00units
b:Rs5,000 T

a. 5,6(5_(:J‘u‘nlts'

ANSWER-SOOOuni'ts'}_'; Uk oG e

32[ In a cash flow series

1{

4 il [ i, R hinterest period -
amountm each tnteteg‘;. R B
(A) Uniform gradientsngnif‘es thatan i mcome ordisbursement changeS bythe same T R

1

dlent
(B) Either an increase or decrease in the amount ofa cash flOW is C3"9d the gr a !

(D)Allofthese &y, o 1“ ::"i ity

Answer: Option D i Ak

133).In a cash-flow diagram: e

(A) Time O is considered to be the ptesent | o s - - Tk ' ol » f_' v

(B) TlmellsconSIdered to be the end of time perlodt ’ " ) At { M [
(C)Avertlcalarrow pomtmg up mdicatesaposntlve cash fldw (LRI Lt {‘
(D) All of these | B el i
Answeri OptonD - P ik ‘ ey L ' "

134.)Which method is adopted to develop an apprommate or conceptual estimate for penmeter works for bunldlngs from oo
the following? ' s 4/ SO AR s P ol R

(A) Base unit method \ »
(B) Cost per function method i 1 o
" (C) Cost persquare metre method = % i A i ¥ H

(D) Cost per linear metre method =~ A Rt % e f‘,j"

‘ ) \ : “ l' _’
. Answer: Option D ;
135) In the cash-flow diagram sho‘v‘vn in the given figure' B

| | i=10%. t B I 0

0.1 3 3 a4 5 6| . 17 vear .
- I 0

[

A=Rs.3000 © i
(A) Equal depos:ts of Rs 3000 per year (A) are made, starting now .
(B)The rateoflnterestfs 10% per yearaccount . ..‘“‘:.’ ‘ Wy e SN L

(C) The amount accumulated after the seventh deposit i is to be computed
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Rs. |
Rs. 350,000

| Rs. 325000 1 )
Rs. 300,000
Rs. 275,000 H
250,000 I
0 1 2 4 5 | Year fh Vs gt i, e
A) Rs. 10000 per year (B) Rs. 15000 per year C) Rs. 20000 per year D) Rs. 25000 peryear
Answer: Option D ‘ ; ;o T AN R
136. Pick up the correct statement from the following: ] | X .

(A) The change in the amount of money over a given time period is called 'time value' of money, a most importahE CO“CEF’t !

in engineering economy

(B) The manifestation of the time value of money is termed as interest

(C) Interest on borrowing = present amount owed - original loan (D) All-yOf"c}he'se L
Answer: Optlon D g b

137. Both archltect and engineer make use of the cost estimate of the project:

(A) For site selection (B) For designing of the.project (C) For choosing alternatives . ¥ (D) A||0fthese
Answer: Optidn D ‘ B
138. The mterest calculated on the basis of 365 days a year, is known as: * :; 0 1

(A) Interest :‘ (8) Ordmary simple interest C) Exact simple Interest (D) None of these !
Answer: Optlon c e i . ‘ | 4 -l f L !.

139 If a seller recovers h|s capltal along with accumulated compensatlne interest not in one smgle |ump-sum pavment but m

§ I

" periodical equal payments, over time:

(A) Capital Recovery Anniity fs availed  (B) Present work Annuity is availed ~ (C) Sinking Fund Annuity is availed: 41 05
(D) Sinking FundAnnmty |s availed ' kR gt
Answer Opt|onA | ‘ I v | . P 5

140. PICk up the correctstatementfrom the followmq ‘ cagtt G AGE  le  ds a

: _(A) An annunty |s a senes of equal payments occumng at equal penod of tlme

3 -\(B) Annmty is called an equal payment or uniform payment senes

) LR,
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e e e

._n_

» B T (D) Alltho Bbove
(C)e\n ANty way have peroda of tine efanv lannlh b“‘“hmnd n]Wﬂvﬁ he M GQU‘“ 'a"mh e

’ Ana\\w Opuon D

m,-mLuesulthsxs.,lngledea

(A) A past expeudltum.:} ' (t,\)}\n u.n\reemmj_f;cl lmla‘l‘\vee‘ {€) An h)'\mstleii'ctﬁl)ﬁnl'ihpt_; cenfidt_bfi !’ﬁtl‘|_ﬂvﬁd‘.j-{_ Py
(D) All of these ‘ ‘ ,‘ ' % :»'K: Tl ,
Answer: Option D \ " SN VORI B T ’ e :
133, Pick up the. element of the cost from the tolluwlna\ i | _

(A) Direct material (1) Divect labour (L.) ()ver.hmld | (l.))fl\||0“|“mt?l ‘ \r

Answer: Option D i bl |

d44.The construction estimate of a prolect Is used by; i, | | | 15
(A) The awner of the facility (B) The consultlnﬁnreh.ltect/em;lneer' | _(C)The cantr‘nctcr‘of tjhe projeet Sl
(D) All of these fi | heg i | v |
Answer, Option D Ll SRR Y LR W
145 .Pick up the correc §lﬁ!&?ﬂl§ﬂﬂ&ﬂl.ﬂl§.f91bﬂlﬁﬂi LA ' | A : | L ' i {

(A) An annuity is a series of equal paymente occurrinq et equnl perlod of tlme b, Co |

(B) Annuity is callad an aqual payment or uniform pnyment serles

(C) An annuity may have periods of time of any: lenglh but should nlwnys be of equal Iength ‘ : (D) A'll,lt\h"e ebove g
Answer: Option D ; | ‘ e |
146. Pick up the element of the cost from the following; . e s B VO

(A) Direct material (B) Direct labour () Overhead -, (DAl ofthese | ARt I
Answer: Option D | e " i g ot , ‘
147.Pick up the correct statement from thofelloMgg; i A " RORTpIY % ,

(A) A NPV profile graph shows the curvilinear relatlonshlp between the net present value of the project end‘\dlsc'ou_nt rate
' employed i by R AR :

(B)Ina NPV profile, if discount rate Is zero, then net present value Is simply total cash inflows less the total cash outflows of
the project § g IR | i

A TR
'y

(C) As the discount rate increases, the net present \nlue proﬂle slepes dOannrd to the |ight :aﬂ- %
(D)Allofthese o i

Answer Opthl‘\D $ 8 % W i :
—uﬂm.sg_muwmtvunure. ‘O [s the lncre; _Q.LGL ) Q}M‘KIQ ..Lcmt Qa(‘h vmtover 2 nerlod of' 'n years, e

'totg!ggstofnnintgggngg!§: ' _ ARE R GRS

(A)a+<n+1)b L Baseenb (c)nliéﬂ_tif@);b:'f' ""',"('?):n?.(iw"ifi?’_b'. *

\
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(E ,he assumptlons that all cash flows oceyr at the end of the interest perlod I5 Known as the s d

of penod conventlon it

e he cash flow diagram represents PO
' P the statement of the problem and also includes what is given and what is to be; found, _
4 D) All of the above b A | ji
E o it
Answer: Option D &
150. Pick up the correct statement from the following: = \
(A) Engmeenng economy is a collection of mathematical techmques whrch srmpllfy economic comparisons W
||
(B) Engineering economy is a decision assistance tool by which one method will be chosen as the most economlcally one )
(C) For understanding the engineering economy, one should be able to cla55|fy the basic termlnology and fundamental 4
concepts of economy ‘ : e e ol f "
(D) All of these i
ol
Answer: Option D ’ ff]
151. In the cash flow diagram shown in the given figure g E.l
wm|- | ; H
; . ) 1 - ‘
2 | Time ; \
<o 1 2 3 4 5 |
g | |
U . 0 ! ) i { “.‘ \
{  (A) The ﬁrst-disbursement occurs at the ‘end of year:Z ‘ (B) The second dlsbursement oceurs at the end of year 4
. (C) The first receipt occurs at.the end of year 1 §i (D) All of these e o Mgl R
152. WhICh one ofthe followmg statements is correct? ; ko JET R R S

- (B) The discount rate that equates the present value of the expected Net Cash FIows (CFs) wrth the lnltlal Cash Outﬂow (Icojl 4

(A) The number of years requlred to recover the lnltlal cash mvestment in a prOJect is called Pay Back perlod (PBP)

. isknown as mternalrate ofreturn DUNRREE ' ks Fiet

(D) Al of these’

‘Answer; Option D~ i

B!

(C) The present value of the proposal s net cash flows Iess the proposal s mmal cash outflow |s known as the Net Present

:Value(NPV) gl AL Wk - s .‘.'

i i
i I
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153.The wages of supervisors and material handlers are chargedas; el b i ,
(A)Overhead . (B)Direct labour cost ‘(C;) indirect labour cost -_"‘(Q)'-N'c.j_'ne of these -

) Answer: Option A il
154 The annuity which refers to a debt payment for recovering the initial amount or capital in eqqal‘p‘eriodi’cai payments, is
known as; o LR Al AR it .

(A) Present Worth Annuity  (B) Sinking fund annuity: * .+ (€) Compound annuity D) Capital recovery annuity

Answer: Option D

155.Annuities involve: 3 | avl
(A) A series of payments (B) All payments of eqUa|'a‘m.0un‘t - C) Payment at equal time intervals
(D) All of these

Answer: Option D

156.1f ‘S’ is the future capital accum u_|ated i'n ‘n’ years at fhe rate of interest ‘I’ per annum, then présent worth is:
(A)S/(1 +i)n (B)S(1+i)n (©Ss(+i)t/n . . (D)Noneofthese

Answer: Option A

157.. Present worth Annuity (PWA) is generally knownas -
L g

{A) Premium annuities (B) Income annuitié§ E‘ *'(C) Future annuities (D) All of these

' Answer: Option D

bR &5 I
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